SLAPPSET.

CLOXX

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE DINSTALLATION

DATE: 25.4.2022

Q16352

Copyright Lappset Group Ltd




+4

falrs

+

eaciakd | oo e

% LAPPSET. Q 1(1)
CLOXX
DATE: 25.4.2022
702341 PCS 702633 |pcS 704070 |pcs 704159 |pcs 704179  |pcs 704199  |pcs
1 g 4 i 1 1
90x50 90x50 =
704332 |pcs 704425 |pcs 704432 |pcs 704671 704803 |pcs
1 /""'/ 1
= = = = =
704850 |pcs 902022 |pcs 902134 |pcs 902157 |pcs 904100 |pcs
' 1 8 25 59 14
L 710 = 60x60x2 260/40
904459 |pcs 904460 |pcs 904507 |pcs 904819 |pcs 909628 |pcs| A10662—1 |pcs
3 3 2 7 2 al
L 2237 L 2237 L 1637 @44.5x710 M10x100 =
A10663 |pcs PCS PCS PCS PCS PCS
1
< ‘
=3
=
PCS PCS PCS PCS PCS PCS
D
2 - - - - - -
$ PCS PCS PCS PCS PCS PCS
s it hitd it hitd i hited
g - - - - - -
D
D
i
§: I I I I I I
D

~




: 50

785

D @

25.4.2022

2000

Q16352

DATE:

785

n
970

+

t Area 44.8 m2
+ +

EN/AS Impac

T

GZ8 174 0SSs¢

+ + 1 + + + + + + + + + + + + +
+ + + +
+ + + +
+ + + +

OO

2N

+ + + +

OO SRR
+ + + +
+ + + +

(D6 .

NNV
+ + + +

(AN

NNV .
+ + + +
+ + + +

Gll
+ ce + + + +
1274
+ + + + + + + + + + + + + + + +
0LS1
+ + + + + + + + + + +

% LAPPSET.

CLOXX

+ + + + +
p3}1 dnous 3yesddo yybrukdo)



Q16352
DATE:

4A

25.4.2022

TN
<
A’
O
@))
=
O
N O
S 00
()
P U AN -
| O
(- -
O @)
oo (-
m OOO@ o o LQ|M O
0o ) MO
T2, :
\\ 0o o "

OD

% LAPPSET.

CLOXX

MTOx100

I

py] dnou9 3jesddpT jybrhAdo)



% LAPPSET.

Q16352

DATE: 25.4.2022
E— EN/AS Impact Area 44.8 m2
:50
I 00000
- Falling Space 48.1 m2 0 2
Max Falling Height 2250 mm
4940
o| 8 N
S .
p o |
O
10
/ [— =1 J 1500
790
1500 ]
am ol
NE
\ N~
\\\ InE 8 N~
i @
“PNJl.__1000 N 1000 1000
o
g S
Q I
7030
7745

Copyright Lappset Group Ltd




% LAPPSET.

CLOXX

Q16352

DATE:

25.4.2022

SA

+2320

+2250

+1880

+1470

+870

—

+1470

+270

+0

+3410

+2250

+1470

+0

Copyright Lappset Group Ltd




% LAPPSET.

CLOXX

Q16352

DATE:

25.4.2022

905019
(704671)

12

rf@f

ik

904507
X2

904525
(704070)

904819
x7

904459
- X2

902022
x8

Copyright Lappset Group Ltd

TOWER
B




TOWER A

Q16352
DATE:

% LAPPSET.

CLOXX

7

25.4.2022

902022
x4
704425
904507

904460
904459
904987
(704671)

py] dnou9 3jesddpT jybrhAdo)



% LAPPSET.

CLOXX

Q16352

TOWER A

7a

DATE: 25.4.2022
B
+2255
+1655 +1655
+1470
= —
+870 +870
;u:ugg ]
+0 il LL,;II +0
+2255 +2255
+1470 +1470  —
ij +870
+0 +0 4}_1 ll ﬂ}_

Copyright Lappset Group Ltd




% LAPPSET.

CLOXX

Q16352 TOWER B

DATE:

25.4.2022 7 b

904819
X3

902022
x4

904460

Copyright Lappset Group Ltd

704199




% LAPPSET.

CLOXX

Q16352

TOWER B

14~

DATE: 25.4.2022
B
+2255
[ - e A 50
+1470 +1470
+0 +0
o
0
+2255 +2255
os——H0
+1470 +1470
+270
+0 +0

Copyright Lappset Group Ltd




% LAPPSET.

CLOXX

Q16352

DATE: 25.4.2022

A10663
A10662

@ il

Max falling height.

704850

Copyright Lappset Group Ltd

//,f/
(i
704199

704803

704070

704332

00




8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




% LAPPSET.

CLOXX

4

P N S |

FLOOR (SLIDE) DATE:  3.10.2013 1(3)
(O 704432 | 704038 [pcs|() 902124 pes|() 902232 [pes|() 902233 [pes|(O) 980161 [pcs] pes
nl 6 6 2 |
) / ,’ ‘\@4‘
& 9 -
| 150x50x50 | | Mioxs5 | | wmiox30 | | w0 | | -
pes(C) 909109 [Pes|(0) 905090 [pesi(C) 980154 [pes|(C) 909248 [pes|(C) 905115 |pes|
| 2 2 2 2 2
\mf
1 Mmi2xa0 | @45 | | w@2413 | | M2 | | @32 | |
PCS| PCS| PCS| eS| PCS| PCS|
(O 704447 | 704446 |pes|() 902124 [pes|(C) 902232 |pes((C) 902233 |pes|(C) 980161 |Pes| pes
a 2 6 6 2 |
2 / /’ i\@“
& 9 =
| 150x50x50 | | Mioxss | | wmiox3o | | Mo | | ]
pes() 909109 [pes|(0) 905090 [pes|(C) 980154 [pes|(C) 909248 [pes|(() 905115 |pcs|
| 2 2 2 2 2
\euf
| wmizxeo | | w45 | | @243 | | w2 | | @32 | |
PCS PCS PCS PCS PCS PCS
(O 704666 |() 704667 |pes|() 902124 [pes|(C) 902232 |pes() 902233 |pes(C) 980161 |pes| pes
nl 6 6 2 |
: 8 \m#
H
1 | 1s0x50x50 | | Mioxss | | wmiox30 | | w0 | ] -
? pes(C) 909109 [Pes|(0) 905090 [pes((C) 980154 |pes|(C) 909248 [pes|(C) 905115 |pes|
| E3 2] 2] 2] 2]
it L]
P I I I I I —
gl M12x40 245 @24/13 M12 @32




% LAPPSET.

CLOXX

FLOOR (SLIDE) DATE: 3.10.2013 2(3)
(O 704684 |() 704685 |pes|() 902124 |pes|() 902232 [pes|(C) 902233 [pes|(C) 980161 [pes] pes
1 12] €] © 12] -
» ,/ < .\-\—/‘
<> & o
| 1s0xs0x50 | | wmioxss | | wmioxso | | w0 | ] B
pes(C) 909109 |Pes|(C) 905090 [pes|(C) 980154 |pes|(C) 909248 [pes|(C) 905115 |pes|
- 2| 2] 2] 2| 2]
|| &
2|9
| w20 | | w45 | | w24z | | w2 | | @32 | |
s s s s s s
(O 704692 |() 704693 |pes|() 902124 [pes|() 902232 [pes|() 902233 [pes|() 980161 [pes] pes
1 6 6 12
* e, P ‘@>
> v || ©
| 1soxsoxso | | mioxss | | wmioxso | | w0 [ ] ]
pes(C) 909109 [Pes|(0) 905090 [pes|(C) 980154 |pes|(C) 909248 [pes|(C) 905115 |pes|
- 2] 2] 2] 2] 2|
\mf ®
ol Mi2xao | | ess | | @213 | M2 | | w32 | ]

PCS

| 4+ O
coppsSttT—oroup—Cta

H 4
COpPyrigmt




% LAPPSET.

CLOXX

DATE:  3.10.2013 3(3)

FLOOR (SLIDE)

MT2 x40

(909109)

904310

905090
224 /13

(980154)

MT2

(909248)

902115

ed

ATT I MAX GAP betweeéen plate
and tube is 6mm
HUOM ! MAKSIMI VALI lattialevylld

ja putkella on 6mm

T

(902233)

902124
MTO
(980161)

KAYTA TARVITTAESSA SAMAA LEVYA
VASEMALLE TAI OIKEALLE.

IF NECESSARY USE SAME PLATE LEFT
OR RIGHT.

| +4

Aariakbht 100Q | ~r- + O

IO OpPStT \Jrubp |=ue)

~

COpygrt

NOTE:

Huom!

pDAria samassa

Use a wire marked pairs
of the same junction.

Kayta langalla merkittya

llitoksessa.




Copyright Lappset Group Ltd

% LAPPSET.
CLOXX

DATE:

704671

7.6.2012

DET 7
@//
DET 1 _ 3
| (784)
| | [
|y
o
S
] 8

@ 204668

15x670x734 T8 70x534
(3) 902124 |pes|(4) 902232 |Pes|
8
SN i
(5) 902233 [pesi(6) 904133 [pes
i 12

@ @,
MI0x30 | | Miox80 | |
(2) 904158  [pes|(8) 904987 pes
i / 2

A\’

(9) 904992 [Pes|{Q) 904996 [pes
i S
130x130x2237 | ]
ﬁ@ 909852 .
i 8

M

@W""’
_— M8x30 B
PCS -
E _
=)

M10 ] ]

PCS

PCS




o

QQQ

! 4 !
TIIO COppPStT oroupP—Cta

% LAPPSET.
CLOXX

704671

DATE:

7.6.2012

— DET 2

210 T 90 (4x)

DET 3

CoOPyr gt

904987/

902124
M10 -

8 Qf E
— Qs 0O
i .o
M10x100 Kgiiﬂﬁe
DET 4 DET 5
/04068
90498/ [ ¢ V830
=~
0 0 904996
a
o S
904158
M1Ox80
DET 6 DET 7
M10x55 /04668 0

é
MT0Ox55
MTOx350
902124
M10
/0467772




% LAPPSET.

704769

FINNO DATE: 8.7.2015 1(2)
(1) 902532 |pes|(2) 908021 |pcs|

§ 4] 12

p10x60 | | ]

(3) 909142 |pes|(4) 980154 |pcs|

4 4

M12x70 @24/13 | |

(5) 909644 |pcs Pcs

4 | |

mi2 | ] N

DET 1-3




% LAPPSET.

704769

Copyright 1998 Lappset Group Ltd

FINNO DATE: 8.7.2015 2(2)
DET 1
Mle (909644
Mlex /0 (909142 @26 /13 (980154)
DET 2
PD10x60 (302532
DET 3
HOSNL
4] l
)
250N w wwwww
@8V 75
5 HOLE
N\
BETON|

CONCRETE K50




Copyright Lappset Group Ltd

% LAPPSET.

704803

CLOXX DATE: 7.6.2012 1(2)
(1) 904528 |pes|(2) 909628 |pcs|

1 @ 8

— —

% | wmioxtoo | |

50

+1470

+0

ﬁ




% LAPPSET.

704803

CLOXX DATE:  7.6.2012 2(2)
DET 1 DET 2
~— 210 T 90 (4x)
\ o g
\\gii 9 ///k @ii\\
] I
S Y BN %
N Qs Qfogg
'] G Bors: Boc
~ Qs Qe e 1 o
K Beton] 20
MTOx100 Concrete
DET 3 DET 4 -
X
T (902096)
T “ 901994
M1 2
(902234)

9045278

10Q2 | 4 | 44
TTIO cOppSet—ofroupP—Tta

ikt
COpPyrigmt




Copyright Lappset Group Ltd

% LAPPSET.
CLOXX & FINNO

SLIDE

DATE: 11.7.2012

(1), 704850
A

U
YELLOW

(O 980152

224 /8.4

pes|(C) 909866

OR

(O 980152

224/8.4

pes|(C) 900240

28x70

(9801252

MEX60
(909866»

Ned /8.4
(980152

N8 /0
(900240,




Copyright Lappset Group Ltd

LAPPSET
CLOXX & FINNO

SLIDE

11.7.2012 2(2)
CLOXX
O 0 1:50
| J +1470
C == @)
+0
‘ 784 2555
|
(@] o 0 Q
: 3 2 %
R _
2000 B
| R
n
g 5 8
4795
FINNO
1:50
+1470
i ) +0
‘ X | 2430
()
x - —
7 2000 3
%///X\ R
S o o
e 5 S
>
4690




Copyright Lappset Group Ltd

% LAPPSET.
CLOXX & FINNO

SLIDE

DATE: 27.11.2012

1(2)

(O 705172 |ecs

U
YELLOW

(O 980152 |pes|(C) 909866 |pes
3 | 3|
g24/8.4 | | M8x60 | |
(O 980152 [pes|(O) 900240 [pcs]
5 | 3|

"
g24/8.4 | | w8x70 | |

Wed /8.4
(980152

MEx 60
(9098667

D4/

4

(980122
% /0

(9002400




Copyright Lappset Group Ltd

LAPPSET

CLOXX & FINNO

SLIDE

27.11.2012 2(2)
CLOXX
O O O 1:50
Q) @
X, +870
( )
+0
‘ 784 ‘ | 1810
CLOXX
1:75
8 5
— o Q
SIIRY
& y 2000 =
3 5, &
o OOO
(@]
§ =
4055
FINNO
1:50
+870
i i +0
‘ ‘ 1680
FINNO
1:75
8 5
- o )
= RSy
3 7 s 2000 Q
3 ? = Q
I Z,
o (@]
o =
s
3930




% LAPPSET. 902134

CLOXX DATE:  3.5.2013 1(2)

Copyright Lappset Group Ltd

(1) 901803 |pcs|(2) 901994 |pes

DET 1, 2, 3, 4, 5, 6, (8) ®/

M12x90 2190
(3) 902096 |pes|(a) 902234 [pes
DET 8 @/ 4 | 6]
— M12x120 | | M2 | |

X

L\ @ L R

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T ]
STRUCTURE IS COMPLETE.




% LAPPSET.

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
~ FIRST BOLT INSTALLATION
— 1% ( 3 INSTALLATION TMOX‘ SONm.
\ Max. 20Nm.
T
LAMINATE OR WQOD ’\/H 2><9©
(901803)
M12
(902234) (902234)
DET 4 DET 5 DET 6

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7 902157 or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

Copyright 1998 Lappset Group Ltd




% LAPPSET. A10662-1

DATE: 18.5.2022 1(4)

(1) P16020 |pcsi(2) P16015 |pes

<

15x355x769 15x355x769
(3) P16028 |Pcs|(a) P16016

=

15x355x769 15x175x769
(5) P16019 |pcs((6) P16017

<

15x205x769 15x355%x1049

(7) P16014 |Pcs((8) P16018

15x1170x1370 15x160x769
(9) 901570 |pcsiig) 909852 |pes

| |
| |

\

|_\|
o

N o

NE

\

o
(9]
)

| |
| |

2

o
(9]
[%2)

[~

Copyright Lappset{zoup Ltd

28 58]
=

36x55x55 | | M8x30 | |
(11) 980160 |Pcs|(i2) 909855 |Pcs|
74 10

' )

. e
Me | | Mex3s | |
23 905104 |pes|(HCP000553Pcs|(4) P16345 [Pes|5) 902124 [pcs|
12 1 3 8

M10 130x130x180 | | 150x50x50

980161Pcs[17) 902233 |pes(ig) 902232 [pes(i9) P16023 [pes(20) 980152 |Pes(2]) 909850 | (22 909628 |pes|

8 4 4 1 3 3 2 12

I I — I I I I
. . » w
® & « / 3

QAL

Mo | | Miox3o | | wmioxss5 | | | o24/84 | | wM8x25 | | Mioxioo | |




% LAPPSET.

A10662-1

DATE: 18.5.2022

2(4)

+1560

+550

+370

+180

+0

Copyright 1998 Lappset Group Ltd

DET3 — "\ 7\




#® LAPPSET.

A10662-1

DATE: 18.5.2022

3(4)

DET 1

DET 2

DET 3

DET 4

M8x30
909852

Copyright 1998 Lappset Group Ltd

DET 5

M10x55

902233

902232 |
<A
MI0x30 | @b
@l

DET 6




A10662-1

% LAPPSET

4(4)

18.5.2022

.
.

DATE

hole

Pre—drill

2107, 90 (x4)

<« M10x100

M10x100

PTT dnoJ9 155ddDT 8661 TUDIAT0OD



% LAPPSET.

A10663

Copyright Lappset Group Ltd

FLOOR (SLIDE, STAIRS)ATE: 28.10.2021 1(2)
(1) P16026 |pcs|(2) 902124 |Pcs|
i 8
15x716x716 | | 150x50x50 | |
(3) 909109 E@ 905115 |pcs
4 4

i Q
M12x40 | | @30 | |
(5) 905090 |res|(6) 909248 |Pes
4 4
g45 | | M2 | |
(7) 980154 Pcs|(8) 902232 [res
4 4

N

224/13 | |  wmioxss | |
(9) 980161 |pes|(10) 902233 [pes
8 4

© «
Mio | | wMioxzo | |

DET 2




% LAPPSET.
FLOOR (SLIDE, STAIRS)AT:

A10663

28.10.2021 2(2)

DET 1

045

909248

@30
905115

ATT I' M

pd

N

X GAP betweén plate

and tube is 6mm

HUOM | MAKSIMI VALI lattialevylld

ja putkella on 6mm

DET 2

i

IMTOXDD

(902232) //

T

(902233)

IRvEvA®] Lupp:ct Gru‘u‘p =ta

1002 | aee

Cor ikt

op Yyt

902124
MTO
(980161)
NOTE:

Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya

paria samassa liitoksessa.




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET.
CLOXX

704070

DATE: 14.12.2016 1(3)
Pos|(2) 902195 |pcs|
DET 3 \ DET | > S
DET 1 i
o i
P 150x50x50
=7 (4) 902233 |pes
O “‘/,/ 14]
— ,/
S/
M10x55 | | M10x30 | |
(5) 902273 |pes|(6) 904525 |pcs|
% 28] 2]
| i 060x2.5 | |
> (7) 980161 |pcs| Pcs|
) & = F
A DET 3
: ' &
U DET 2 Mo | | N
PCS PCS
fffffffffff Al T
DET 3 DET 1 — —]
f\i‘
. C b
(’B// PCS PCS
>V - -
it X g — —
n /}l/ DET 4
s |
%’j/ Al S
9//d : a a
DET 4 o4 /‘
7] ‘X i = =
g i DET 2 ] ]
! - |
5 pos o
DET 3 o |




% LAPPSET.

CLOXX

704070

DATE: 14.12.2016

DET 1

MT2x120

(902096)

901994

DET 2

M




% LAPPSET. 704070

CLOXX DATE: 14.12.2016 3(3)
DET 3 o DET 4
| M10
Vil 704071 (980161)
Vv 902195
: M o =W
\ _ 7 (980161) i J
G Qa f§§ 902273
50997 902195
MT0Ox50
505195 (902233)
0% 20 _MTOx55
(902232) (902233) (902232)

| 44

oacialbd 100Q | e + O

a)

P

H

o

P

‘)

b

b

n

D

D

D

H

D

D

i

70 % 170
3 170\
D

D




8 LAPPSET. 704159
CLOXX DATE:  16.5.2012 1(2)

(2) 902124 |pcs

150x50x50
(4) 902233 |pes|
~N 2
Na 2
=) <
=)
< ) J';,—' MIOxs5 | | Miox30 | |
\ (5 902273 |pcs|(6) 980161 [ps]
4
S
&
Mo | |
E
- Pes Pes

Copyright Lappset Group Ltd

400

785




% LAPPSET. 704159

CLOXX DATE: 16.5.2012 2(2)
DET V10 DET 2 1o
(980161) 704159 (980161) 902275
. J022/5 902124
g 902124
= ) <

%
M1 0x 30 M10x30
(902233) (902233)
MT1Ox55
M10x55 (902232)
(902232)

DET 4

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

WALL 2

CLOXX

DATE:  7.5.2012 1(2)
(O 704179 | 704180 [pes|() 902124 [pes|() 902232 |pes|() 902233 |pes|(() 980161 |pes| pes|
b 1 12 1 6] 16| 12 |
_ S
“GRAY | | 150x50x50 | | Mioxs5 | | wmiox30 | | Mo | | ]
(O 902124 pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 |pcs| pes|
6] 6| 12 -
_ S
5 S
YELLOW 150x50x50 | | M10x55 | | Miox30 | | Mo | | ]
(O 703998 |pes|(0) 902124 [pes|(C) 902232 |pes|(C) 902233 [pes|(C) 980161 |pes| pes|
] 1 6] 6] 12 ]
”/ = ;.,, _ 1@;
5 ot
150x50x50 M10x55 | | Miox30 | | Mio | | -
() 902124 |res|() 902232 EO 902233 g@ 980161 |Pcs| Pos|
6] 6 | 12 -
_ S
150x50x50 | | M10x55 | | Mi0x30 | | Mo | | ]
(O 902124 |pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 |pcs| pes|
6] 6| 12 -
_ S
YELLOW 150x50x50 | | M10x55 | | Miox3o | | Mio | | |




Copyright 1998 Lappset Group Ltd

% LAPPSET. CLOXX

WALL 2

DATE: 7.5.2012

2(2)

MTOxD52

MTOX0D

MTOx50

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.




Copyright Lappset Group Ltd

% LAPPSET.
CLOXX

704199

DATE: 9.5.2012

1(1)

(1) 704197 |pes|(2) 904629 |pcs)
L L
1090x1090 | | @60x1113 | |
(3) 904630 |Pes|(4) 909256 |pes
Q — —
12 19
260x796 | | @16/8.4x1.6 |
(5) 909633 |pes|(6) 909852 |pes
9 19
M)
M8 | | wm8x30 | |
< > PCS PCS
| 1090 | 1015
2~ 1
¢4g¥¢¢¢44¢¢4¢¢¢¢¢44
o
o
3 s
00
N~

m )

DET 1 M3
9

(909633)
M/Eﬂ#

o © (909256)

M8x 30

DET 2

904629
904630 M12

/(902234)
>
(@R

. ©

M12x90
(901803)




Copyright Lappset Group Ltd

% LAPPSET.

CLOXX

704332

DATE:

O

O

165

450

+270

A

+0

785

16.5.2012 1(1)
(1) 704333 |pes|(2) 902454 |Pcs|
1] > |4
(3) 909111 |pes|(2) 909644 |pcs|
4] 4]
Mi2xtoo | | w12 | |
(5) 980154 |pcs| pes
4] L
024/13 | | ]
PO PeS)
DET 1 B ]
POS| PeS)
DET 1

MT12x100

— (909111)

/04555

902454

24 /13

(980154)

M12
(909644)




% LAPPSET.

CLOXX

704425

DATE:

9.4.2015

Fr|

0

0

DET 2, 3

(4) 904818

[copyrtar

2]
@ [
(]
N O
=/
< (5) 904833 |pes|(6) 909876 |pes
| / N =
@30x565 | | M8x40 | |
(?) 980152 [rcs|(B) 909855 [pes
16 B
M)
P
@24/84 | | wmex3s | |
DET 4 (@ 999561 [rcs|
’  I—
) 468 e
-
% N
( N BN /
) / C
D
j e
gl =
&b
b
D
D
B
784




8 LAPPSET. 704425
CLOXX DATE: 9.4.2015 2(2)
DET 1 DET 2 904818

In
side
Sisdpuoli.

e

M12x120
(902096)

901994

904810
Asennetaoan
runkovaiheessa.
Be installed
frame in step.

—__ 904810

® . M12

(902234)

MEx40

(909876) |

&

/040960
/04697

M12x120
(902096)

901994

904318

DET 4

| 44
ot oupP—Tta

1 Q| 4
TTIO CUpPPStT

(909876) |

/0469 /

NP N S
COpPyrigmt

MBx 355
(909855)
M1 2 024 /8.4
(902234) 550753
DET 5 MBx40




	Q16352_1
	Q16352_2
	Q16352_3
	Q16352_4
	Q16352_INSTALL.pdf
	Q16352_1
	Q16352_2
	Q16352_3
	Q16352_4
	Q16352_5
	Q16352_6
	Q16352_7
	Q16352_8
	Q16352_9
	240493-Q16352_10
	240493-Q16352_11
	240493-Q16352_12




